M1099 midterm 2 (Spencer Stirling) - April 2, 2010

2. You may attach more sheets if

Directions: Use both the froni and back of the paper for your solution
necessary. SHOW ALL WORK and CLEARLY mark your solutions.
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s¢ints) Find the inverse A™! of the matrix
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Solve the following system of linear equations (hint: the previous problem is useful here, however

by I [ ;;.;,..af!aiiézeé% R
o " APt o A e g A
o L Mo . T .
: r.,m |T . // M B ae M m
4 > T . 4
3] MW o) R e C e
- . Ty — —
ol = g b
NMM nm | Wmm ,/,gm N o [ wmﬂ f{w_/ f/
:m ,,,,,,,,,,,,,,,,,,,, ! % mv 1, &J . “
g 3 o
e i g T o e
5 § - | ¥ ..
o — -
R p ——, " .
E A N r LA S
% 7~ IR N f e i ¥
o e N SRR :a,\a
) o \ .
] p - e {HJ u m&,;J pfﬂv
2 i S
4 fwaf;f ——t swe A
=g e k d S -
- e Y NG — o
& y M\ e g

=
mts)

!
/

|
this problem
AT
#
3
Z
{

Z

8

»VC%J ) ) R e . i&«i
N 4 waﬁ R v N s \/



{/ e, $ P 2 e . " £ s
N (AT T OM S
— W e N

3) {2 points} Solve the guadratic equation

5z% — 324+ 2=0
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4) (3 points) Find the vertex, axis of symmetry, whether the parabola is concave up or concave down, and
the zeros of the function (if they exist)
y = —~4z? + 3z +5
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5) {4 points) A movie theater has found that for every 15 cent increase in ticket prices, 10 fewer people will
buy tickets for that movie. When tickets are priced at $2.00 the theater can expect to seli 400 tickess for
that day. Given that the total ticket revenue equals the price of the ticket times the number of tickets sold,
what is the price which will bring the maximum revenue and what is this maximum revenue (notice there

are TWO questions here)?
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£3 (3 points) Find the anmber of units that need to be produced and sold to break even given the revenue

:ﬁl(i cost functions
Riz) =790z — 05z
C{x) =100 ~ 10z + 0.5z
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7} (3 points) Given the supply and demand equations find the equilibrium price and quantity

supply: p=¢° + 12
demand: p= —3¢° —8g+75
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